For +he zm’fmwg %M/ ‘H«xe »
\.\.g’{xer - M‘%}PW 7 -;‘S,

r ) where e <

— O<r<1j Then r™"

"’p;x’e?f up ev
“the lef | P

For example, £ - )

% )
- .
Then = 4 ) which boke [ ke
&y
xarh%:lrg { o B'au;; Haimag
S vp ouegr
Sy I Sy heve
o

— k‘*:-i/ they 7z 1 and the 130‘5?@4/'»”

C[ppg W@"g'fm ij _ uﬁﬁé{’

- f‘g iﬂ‘)i} ﬁ@n f\mn {;ng M/‘? vl % Fﬁ:i?!ff:
F’Ulf e/)(ah\,{)!gi &‘? r= 4)

ﬁ@m F‘““m = ilm)ﬂ

BQwﬁ

{ii vee W Ve é’ﬁé‘f ,
'f’\;?‘mjg L E | (es Up 7
O\iﬁ\f , V\@\!‘C( bog 1100 g ﬁ‘} W




NO\M ) ”“Hf\e.. ?w‘sﬁmmg@w“m W émf; b Heo (2 AZ
DTFT ot the fiedyy quy ypage—n

X@ = Fiaomc "“‘%

IR (0Tl out
nez

= Z__@ gagy (W@ w}
neZ Vo -
2 = F@)M Lorw
Vv oz wggm;"%‘h&éﬂ!ﬁ
W = &ﬂiﬁ;;&

> ke

NEZL {

fﬂ{}r @‘ﬁ 'if’,‘ ﬁ iwﬂ'ﬁﬁf) Eﬁ:e i«!’} . il

P

ja? i) € ;‘ ﬁi eq @‘gﬂ}

or ?é not T 4 L e <A
- g‘ ﬁ@% a o Jf@?’f}fﬁi’iqu e Ey

4?[{%9 ,@,,MM

= owhen 4V dy e sum converies at al|

the we G’w T) & twt

— So you get a oivcle of radius ¢ e
RVt of the Fegion ob fonprrgevces f‘?’f




ER: Swpwe Dk XGE) = 3 a0z
neEZ

- - 63\
= 2 xer e
neZ

e ges L =72.
— Thix weang ‘H\cj fl\a {'\Fxﬂ;l HP ﬁ“}/

- N
2, xin} = (fé:) Xk lmg a mva@ﬁﬂ‘
Fovrier - ransfoyrpn |

= This

4

€%

Meaue Mw&% X[%) C&ﬂv@w?ﬁﬁ “@r‘
220 Ty ot wyd,
pW’" all ‘F“?«e,,, W s ‘
Ci

1T con UEpes

, at r=7. S ‘1"‘11&
-

g

e of 25 with Mﬁjwi‘f’uéflé 2 S /a
fhe RoC o x(2) ., *




! © oot A 2 A4
o shutd fok < Hhe
2"““%"“{“@5@&;‘ .

Yrans Farmn <

collection of Fourie
o Lived up uy< vy
Lo )l the Areg evest choices o € >0
thoice of 0 Yo gej" the

Fovriey Foanclorm (NTFE

E{mw\d ’!L”B\e \m’w:fe o gfﬁg;!g“w =i M
2-plane ‘

= For cach

T) ot xow



Now éé&f@%’ :;«;,/l'mf“ I ?,31-.“@(3!
backwirds in class on Tha, 913,
Eef@um i« MQM@M@%;’!% %&,f; ﬁ”éﬁwf‘
the ¢_v PSR

- SUPP@?@ ‘7(,{‘?%‘3 T m?hf"u—ag;gjﬁﬁﬁ ?&){

%M gan fﬁj &) Vﬁ

suelh

vas; 459

= In @f’faew w@ag—}g/ R hy IR af/

pr 280 6‘5 gﬁfu @Q “&Qﬁgf‘“ ﬁﬁﬁgyﬁ?ﬁv gfs{?&
T the (e £+

than 1),
> %6 £ xtag

Ag 6@’ AC[/)deOUf muys+ 4&
N fhe right cide

2 Fixer uppens -, r>1
will be able o Fix this ée:féw@_
Phey €4 up o e mgh‘?‘*

(i €, Furthor (ol

s a had guy,




A L e L D S

£ he has bad Lelo vieuvr, Hiece
‘Q\‘K@V"APFM will wmake Hzg%fwj§ even
wovse |

/ l’oe&‘ﬁ uie "HA@G&E "pg ey — uggéﬁg

ave ﬁVﬁWs‘gﬁ @:&f"{ K’M"Lﬂ o "'F’Z?;@_,
Fight side. |

Tn other words: £~ a right= sided XTu),
the QO(, ;‘V\cflu.éué ‘< Yeom b Xey-uppers
+hot Lix on the V"E‘ji«\'(‘”v So the
ROC s +he exteyior of +he circle
Hhat pagses ﬁ;“g\{](';\ Hre [ay«?@,g% gfwia
o€ X (7).
EX quven tt xoy i vight sidad

| =
ovd X)) = Z N4

. The RoC wmust be
JUNEVIEE. PN 12l > 3.

) ¢
, A aondt @yt
> Note X ek Arcie B %ﬁ{*



ZA
Si\milar—’j, A les -—“S"{“M/ @
Wam avﬂ Lm@ B@L\av:‘our‘ s on the 199@"!“1

So the Roc includes 1% Lrom
@ixwwuw&fﬁ ﬂqa‘?’ {33)( V) ‘{’Lxe ’Q@"iﬁ;

These  ave +ie cweall s

So the ROC of X(Z) wmwt be +he
Wterio ool

| e ! e fLﬂ gﬁim

The ROC must be (< 2.

T wre: i cose, Ko

‘ﬁloe’«‘g €)<'f’5’{; %@f&vf’ﬁ’ +he Roc

oF X&) cotuins He unit
Ch ME{?} mé mg‘fg ﬁxw"%/y

wheve =1 so it XC%) cz@ua/
X(er)




A"‘\‘j ’l’wf} wg;c}gﬁ A  can be @

brokenn wio +54p cum of a lo €4 ~
sided quy au a4 r Jéﬁa‘f ciched guy.

TL‘*Q leFt - %%’?5(63 per f L!M 4 %M"F‘m S ""?Wm
W% ain m"f-fg 2 e [?;4}&:

T//\fe Vj(nz .‘gidﬁj Pav% (?Wg a Z”"%V;rmgw

with on extey o “'

/ ‘\
The . { ‘ '
OVera| Z’%VYQWS"@%W X(z) = 2{76@“35 AN
+he Sy of +pe
Twp parts

T:‘P (/L,as a Roc ﬂ/\af iff/ic:z/u& S mlj Huse z
Lo which bota parts  com verge.

inother wrdy e Roc o xe) i
whicly ¢ o e A RoCs,

an gﬁ_a@mu[ug oy W ‘fﬂj ”q

trans Lorws o€ +ie




How dies all fpis = Pyt e @

Yuncfer Ly we-tle of 4 @légawf@ - twd.

LTT Systenm? |
100 >y

wmpulie.  regponse - W)
@m%umj Vegpese. U (e 5@)
“%V&wag% fomct o Wz)

@ we a\‘f@ld? kww (h/wj +he | Sﬂfgw i<
FBO chble e hiy e () {221)} ;
€ > oo

weZ

No%e ; +(/\ e, ig o) Su(‘§4 C \{?{/\‘é’ (:Wﬁ! s M% r{?{“ ”{B
NSV e "ﬁ‘ et /)(L{fm 3 ;}

€,

<20 _

vae.w§ﬁ£ .

@ 23 H S Can §@a‘.. : “\f’l,\ég;w
Zep for tne NS n othe

\AEM:T’E h ;:mﬁ s either q it - sided o
e gt Tn other el 5, tho
Qo ot Ky .

3 0%
. 'S etthor ﬁ/\ﬂ whole
or YT e EX Tl g

WTHY wyrd fe
neq ative

?i.?; ;"; apnp




m‘“é@ IW’l?{j ‘%’%i ,Q Cau,Sa‘

At"&cm*ed';me LTI systewr IS Stable
£ all the poles of H) ave

| M HA@ Lim?tt cirele .

_% N: H 5'%) 1&g Y“‘;ﬁ«ﬁ'ﬂ mf\a,) LA 2 ; 4"2;«\; g
becomes “iL and ovly ¢

L

(Cavsal of m:ri‘) ¢ Stable i€ the ROC of
H" C‘%) (ne (',w(@g *f‘éj\@ Aw - O ;’“ﬁ'! e,

More :\?@mﬁwf‘/j ; Ay L7z A ggaﬁ?f& ~ T Sy STEM

hlso, 1€ the System is causal, flon Hhe

RoC o Hez) wut be exteyic

—> But +hic i

noor

N £ au ﬁ,g o jff y i !
ecove ) could Le pight-cidkd
but Stert %@*ﬁw‘@ nN=0, Thig
woyld ey an  extey o Ry ¢

i.
b

T4 - caq use | Sy s
|



